

## GENERAL TAUBERIAN CONDITIONS FOR WEIGHTED MEAN METHODS OF SUMMABILITY

SEFA ANIL SEZER AND İBRAHİM ÇANAK \*

*Abstract.* In this paper we recover convergence of a complex sequence  $(u_n)$  out of its summability by weighted means under certain supplementary conditions that control the oscillatory behavior of  $(u_n)$ . As corollaries, we obtain classical Hardy-type Tauberian conditions for various weighted mean methods.

### 1. Introduction

Let  $p = (p_n)$  be a sequence of nonnegative numbers such that  $p_0 > 0$  and

$$P_n := \sum_{k=0}^n p_k \rightarrow \infty \text{ as } n \rightarrow \infty. \quad (1)$$

The  $n^{\text{th}}$  weighted mean of a complex sequence  $u = (u_n)$  is defined by

$$\sigma_{n,p}^{(1)}(u) := \frac{1}{P_n} \sum_{k=0}^n p_k u_k \quad (2)$$

for all  $n \in \mathbb{N}_0$ . A sequence  $(u_n)$  is said to be summable by the weighted mean method determined by the sequence  $p$ ; in short, summable  $(\overline{N}, p)$  to a finite number  $s$  if

$$\lim_{n \rightarrow \infty} \sigma_{n,p}^{(1)}(u) = s. \quad (3)$$

A summability method  $(\overline{N}, p)$  is said to be regular if  $\lim_{n \rightarrow \infty} u_n = s$  implies  $\lim_{n \rightarrow \infty} \sigma_{n,p}^{(1)}(u) = s$ . It is well known that  $(\overline{N}, p)$  is regular if and only if (1) is satisfied.

In this paper, we are interested in converse conclusions. We determine conditions imposed on  $(p_n)$  and  $(u_n)$  under which convergence of  $(\sigma_{n,p}^{(1)}(u))$  implies that of  $(u_n)$ . Such conditions are known as Tauberian conditions and theorems in this direction are called Tauberian theorems.

*Mathematics subject classification* (2010): 40A05, 40E05, 40G05.

*Keywords and phrases:* Tauberian condition, weighted mean methods of summability, regularly varying sequences, slowly oscillating sequences.

\* Corresponding author.

## 2. Preliminaries

The backward difference of  $(u_n)$  is denoted by  $\Delta u_n = u_n - u_{n-1}$  with  $u_{-1} = 0$  for all  $n \in \mathbb{N}_0$ . The difference between  $(u_n)$  and its  $n^{\text{th}}$  weighted mean  $(\sigma_{n,p}^{(1)}(u))$ , which is called the weighted Kronecker identity [4], is given by

$$u_n - \sigma_{n,p}^{(1)}(u) = V_{n,p}^{(0)}(\Delta u), \quad (4)$$

where

$$V_{n,p}^{(0)}(\Delta u) := \frac{1}{P_n} \sum_{k=0}^n P_{k-1} \Delta u_k.$$

Now we introduce a device for the control of the oscillatory behavior of a sequence  $(u_n)$ . Denote the weighted classical control modulo of  $(u_n)$  by  $\omega_{n,p}^{(0)}(u) = \frac{P_{n-1}}{P_n} \Delta u_n$ . For each integer  $m \geq 1$ , define the weighted general control modulo of order  $m$  recursively by

$$\omega_{n,p}^{(m)}(u) = \omega_{n,p}^{(m-1)}(u) - \frac{1}{P_n} \sum_{k=0}^n P_k \omega_{k,p}^{(m-1)}(u) \quad (5)$$

as in [12]. Classical and general control modulus have been used to generate Tauberian conditions for various summability methods [5, 8, 10, 11, 13].

The following two classes of sequences have an important role in controlling the divergent process [1].

A sequence  $(u_n)$  is slowly oscillating in the sense of Schmidt [9] if

$$\lim_{\lambda \rightarrow 1^+} \overline{\lim}_{n \rightarrow \infty} \max_{n < k \leq [\lambda n]} |u_k - u_n| = 0.$$

Here,  $[\lambda n]$  denotes the integer part of the product  $\lambda n$  and will be used throughout this paper.

A nondecreasing sequence of positive numbers  $(P_n)$  is called regularly varying of index  $\theta > 0$  in the sense of Karamata [7] if

$$\lim_{n \rightarrow \infty} \frac{P_{[\lambda n]}}{P_n} = \lambda^\theta, \quad \lambda > 1.$$

We remind that if  $(P_n)$  is regularly varying of index  $\theta > 0$ , then conditions (1) and

$$\underline{\lim}_{n \rightarrow \infty} \frac{P_{[\lambda n]}}{P_n} > 1, \quad \lambda > 1$$

are satisfied (see [3]).

The proofs of our results hinge on the following lemmas.

LEMMA 1. ([4]) *Let  $(u_n)$  be a sequence of complex numbers. For  $\lambda > 1$  and sufficiently large  $n$ ,*

$$u_n - \sigma_{n,p}^{(1)}(u) = \frac{P_{[\lambda n]}}{P_{[\lambda n]} - P_n} \left( \sigma_{[\lambda n],p}^{(1)}(u) - \sigma_{n,p}^{(1)}(u) \right) - \frac{1}{P_{[\lambda n]} - P_n} \sum_{k=n+1}^{[\lambda n]} P_k \sum_{j=n+1}^k \Delta u_j.$$

LEMMA 2. ([4]) For a sequence  $(u_n)$ ,  $V_{n,p}^{(0)}(\Delta u) = \frac{P_{n-1}}{p_n} \Delta \sigma_{n,p}^{(1)}(u)$ .

LEMMA 3. For a sequence  $(u_n)$ ,  $\omega_{n,p}^{(1)}(u) = \frac{P_{n-1}}{p_n} \Delta V_{n,p}^{(0)}(\Delta u)$ .

*Proof.* By the definition of weighted general control modulo, we have

$$\omega_{n,p}^{(1)}(u) = \omega_{n,p}^{(0)}(u) - \frac{1}{P_n} \sum_{k=0}^n p_k \omega_{k,p}^{(0)}(u).$$

It then follows from Lemma 2 and (4) that

$$\begin{aligned} \omega_{n,p}^{(1)}(u) &= \omega_{n,p}^{(0)}(u) - V_{n,p}^{(0)}(\Delta u) \\ &= \frac{P_{n-1}}{p_n} \Delta u_n - \frac{P_{n-1}}{p_n} \Delta \sigma_{n,p}^{(1)}(u) \\ &= \frac{P_{n-1}}{p_n} \Delta(u_n - \sigma_{n,p}^{(1)}(u)) \\ &= \frac{P_{n-1}}{p_n} \Delta V_{n,p}^{(0)}(\Delta u). \end{aligned}$$

### 3. The Main Results

In this section, we establish new general Tauberian theorems for  $(\overline{N}, p)$  methods of summability.

THEOREM 1. Let  $(P_n)$  be regularly varying of index  $\theta > 0$ . If  $(u_n)$  is summable  $(\overline{N}, p)$  to  $s$  and if

$$\lim_{\lambda \rightarrow 1^+} \overline{\lim}_{n \rightarrow \infty} \sum_{k=n+1}^{[\lambda n]} \frac{p_k}{P_{k-1}} |\omega_{k,p}^{(0)}(u)|^q < \infty, \quad q > 1, \tag{6}$$

then  $(u_n)$  converges to  $s$ .

*Proof.* Considering Lemma 1, we have

$$\left| u_n - \sigma_{n,p}^{(1)}(u) \right| \leq \frac{P_{[\lambda n]}}{P_{[\lambda n]} - P_n} \left| \sigma_{[\lambda n],p}^{(1)}(u) - \sigma_{n,p}^{(1)}(u) \right| + \sum_{k=n+1}^{[\lambda n]} |\Delta u_k|.$$

Regular variation of  $(P_n)$  implies

$$\overline{\lim}_{n \rightarrow \infty} \frac{P_{[\lambda n]}}{P_{[\lambda n]} - P_n} = \left\{ 1 - \frac{1}{\overline{\lim}_{n \rightarrow \infty} \frac{P_{[\lambda n]}}{P_n}} \right\}^{-1} < \infty. \tag{7}$$

Taking (7) and the assumed summability  $(\bar{N}, p)$  of  $(u_n)$  into account, we obtain

$$\overline{\lim}_{n \rightarrow \infty} \left| u_n - \sigma_{n,p}^{(1)}(u) \right| \leq \overline{\lim}_{n \rightarrow \infty} \sum_{k=n+1}^{[\lambda n]} |\Delta u_k|. \quad (8)$$

Applying the weighted version of Hölder inequality ([2], p.39) to right hand side of (8), we observe

$$\begin{aligned} \sum_{k=n+1}^{[\lambda n]} |\Delta u_k| &= \sum_{k=n+1}^{[\lambda n]} \frac{p_k}{P_{k-1}} |\omega_{k,p}^{(0)}(u)| \\ &\leq \left( \sum_{j=n+1}^{[\lambda n]} p_j \right)^{\frac{1}{r}} \left( \sum_{k=n+1}^{[\lambda n]} p_k \frac{|\omega_{k,p}^{(0)}(u)|^q}{P_{k-1}^q} \right)^{\frac{1}{q}}, \text{ where } \frac{1}{r} + \frac{1}{q} = 1 \\ &\leq (P_{[\lambda n]} - P_n)^{\frac{1}{r}} \left( \frac{1}{P_n^{q-1}} \sum_{k=n+1}^{[\lambda n]} p_k \frac{|\omega_{k,p}^{(0)}(u)|^q}{P_{k-1}} \right)^{\frac{1}{q}} \\ &\leq \left( \frac{P_{[\lambda n]} - P_n}{P_n} \right)^{\frac{1}{r}} \left( \sum_{k=n+1}^{[\lambda n]} \frac{p_k}{P_{k-1}} |\omega_{k,p}^{(0)}(u)|^q \right)^{\frac{1}{q}} \end{aligned}$$

and consequently

$$\overline{\lim}_{n \rightarrow \infty} \left| u_n - \sigma_{n,p}^{(1)}(u) \right| \leq (\lambda^\theta - 1)^{\frac{1}{r}} \overline{\lim}_{n \rightarrow \infty} \left( \sum_{k=n+1}^{[\lambda n]} \frac{p_k}{P_{k-1}} |\omega_{k,p}^{(0)}(u)|^q \right)^{\frac{1}{q}}. \quad (9)$$

Now, letting  $\lambda \rightarrow 1^+$  in (9) and taking (6) into account, we conclude

$$\overline{\lim}_{n \rightarrow \infty} \left| u_n - \sigma_{n,p}^{(1)}(u) \right| = 0.$$

This completes the proof.

As a corollary, we may give the following classical Hardy-type ([6], p.149) Tauberian theorem for  $(\bar{N}, p)$  summability

**COROLLARY 1.** *Let  $(P_n)$  be regularly varying of index  $\theta > 0$ . If  $(u_n)$  is summable  $(\bar{N}, p)$  to  $s$  and if*

$$\frac{P_{n-1}}{p_n} |\Delta u_n| \leq M \quad (10)$$

for some  $M > 0$  and all  $n$ , then  $(u_n)$  converges to  $s$ .

Here, we investigate variations of condition (10) for particular weighted mean methods.

- (i) If  $p_n = 1$  for all  $n \in \mathbb{N}_0$ , then  $(\overline{N}, p)$  summability corresponds to the  $(C, 1)$  summability, where  $P_n = n$ . In this case, (10) reduces to condition  $n|\Delta u_n| \leq C$ .
- (ii) If  $p_n = \frac{1}{n+1}$  for all  $n \in \mathbb{N}_0$ , then  $(\overline{N}, p)$  summability corresponds to the  $(\ell, 1)$  summability, where  $P_n \sim \log n$ . In this case, (10) reduces to condition  $n \log n |\Delta u_n| \leq C$ .
- (iii) If  $p_n = \frac{1}{n \log(n+1)}$  for all  $n \in \mathbb{N}_0$ , then  $(\overline{N}, p)$  summability corresponds to the  $(\ell, 2)$  summability, where  $P_n \sim \log \log n$ . In this case, (10) reduces to condition  $n \log \log n |\Delta u_n| \leq C$ .

Note that, for all three cases, we do not need to assume the regular variation condition on  $(P_n)$ .

Instead of retrieving convergence of  $(u_n)$  from the existence of the limit (3) under additional conditions imposed on the sequences  $(u_n)$  and  $(p_n)$ , we may deduce more general information about the oscillatory behavior of  $(u_n)$  by replacing  $(\overline{N}, p)$  summability of  $(u_n)$  by  $(\overline{N}, p)$  summability of  $(V_{n,p}^{(0)}(\Delta u))$ .

**THEOREM 2.** *Let  $(P_n)$  be regularly varying of index  $\theta > 0$ . If  $(V_{n,p}^{(0)}(\Delta u))$  is summable  $(\overline{N}, p)$  to  $s$  and if*

$$\lim_{\lambda \rightarrow 1^+} \overline{\lim}_{n \rightarrow \infty} \sum_{k=n+1}^{[\lambda n]} \frac{p_k}{P_{k-1}} |\omega_{k,p}^{(1)}(u)|^q < \infty, \quad q > 1 \tag{11}$$

then  $(u_n)$  is slowly oscillating.

*Proof.* Applying Lemma 1 to  $(V_{n,p}^{(0)}(\Delta u))$ , we have

$$\left| V_{n,p}^{(0)}(\Delta u) - V_{n,p}^{(1)}(\Delta u) \right| \leq \sum_{k=n+1}^{[\lambda n]} |\Delta V_{k,p}^{(0)}(\Delta u)|$$

by (7) and  $(\overline{N}, p)$  summability of  $(V_{n,p}^{(0)}(\Delta u))$  to  $s$ . Since

$$\sum_{k=n+1}^{[\lambda n]} |\Delta V_{k,p}^{(0)}(\Delta u)| = \sum_{k=n+1}^{[\lambda n]} \frac{p_k}{P_{k-1}} |\omega_{k,p}^{(1)}(u)|$$

by Lemma 3, we obtain

$$\overline{\lim}_{n \rightarrow \infty} \left| V_{n,p}^{(0)}(\Delta u) - V_{n,p}^{(1)}(\Delta u) \right| \leq \left( \lambda^\theta - 1 \right)^{\frac{1}{r}} \overline{\lim}_{n \rightarrow \infty} \left( \sum_{k=n+1}^{[\lambda n]} \frac{p_k}{P_{k-1}} |\omega_{k,p}^{(1)}(u)|^q \right)^{\frac{1}{q}} \tag{12}$$

by using the weighted Hölder inequality. Considering the hypothesis (11) and taking

the limit of (12) as  $\lambda \rightarrow 1^+$  yields

$$\overline{\lim}_{n \rightarrow \infty} \left| V_{n,p}^{(0)}(\Delta u) - V_{n,p}^{(1)}(\Delta u) \right| = 0. \quad (13)$$

It is clear that (13) implies  $\lim_{n \rightarrow \infty} V_{n,p}^{(0)}(\Delta u) = s$ . By Lemma 2, we have

$$\begin{aligned} |\sigma_{k,p}^{(1)}(u) - \sigma_{n,p}^{(1)}(u)| &= \left| \sum_{j=n+1}^k \Delta \sigma_{j,p}^{(1)}(u) \right| \\ &\leq \sum_{j=n+1}^k \frac{p_j}{P_{j-1}} \left| V_{j,p}^{(0)}(\Delta u) \right|. \end{aligned}$$

Since  $(V_{n,p}^{(0)}(\Delta u))$  is bounded, we get

$$\begin{aligned} \max_{n < k \leq [\lambda n]} |\sigma_{k,p}^{(1)}(u) - \sigma_{n,p}^{(1)}(u)| &\leq \frac{M}{P_n} \sum_{j=n+1}^{[\lambda n]} p_j \\ &= M \left( \frac{P_{[\lambda n]}}{P_n} - 1 \right), \end{aligned}$$

where  $M$  is a positive constant. The last inequality above leads us to

$$\lim_{\lambda \rightarrow 1^+} \overline{\lim}_{n \rightarrow \infty} \max_{n < k \leq [\lambda n]} |\sigma_{k,p}^{(1)}(u) - \sigma_{n,p}^{(1)}(u)| = 0,$$

which means that  $(\sigma_{n,p}^{(1)}(u))$  is slowly oscillating. It follows from (4) that  $(u_n)$  is slowly oscillating. This completes the proof.

#### REFERENCES

- [1] N. H. BINGHAM, C. M. GOLDIE AND J. L. TEUGELS, *Regular Variation*, Cambridge Univ. Press, Cambridge, 1987.
- [2] P. CERONE AND S. S. DRAGOMIR, *Mathematical Inequalities: A Perspective*, Chapman and Hall/CRC, New York, 2010.
- [3] C. CHEN AND J. HSU, *Tauberian theorems for weighted means of double sequences*, Anal. Math., **26**, 4 (2000), 243–262.
- [4] İ. ÇANAK AND Ü. TOTUR, *Some Tauberian theorems for the weighted mean methods of summability*, Comput. Math. Appl., **62**, 6 (2011), 2609–2615.
- [5] M. DİK, *Tauberian theorems for sequences with moderately oscillatory control modulo*, Math. Morav., **5**, (2001), 57–94.
- [6] G. H. HARDY, *Divergent Series*, Clarendon Press, Oxford, 1949.
- [7] J. KARAMATA, *Sur un mode de croissance régulière des fonctions*, Mathematica (Cluj), **4**, 1930, 38–53.
- [8] O. MERONEN AND I. TAMMERAID, *General control modulo and Tauberian remainder theorems for  $(C, 1)$  summability*, Math. Model. Anal., **18**, 1 (2013), 97–102.
- [9] R. SCHMIDT, *Über divergente Folgen und lineare Mittelbildungen*, Math. Z., **22**, 1 (1925), 89–152.
- [10] S. A. SEZER AND İ. ÇANAK, *Tauberian theorems for the summability methods of logarithmic type*, Bull. Malays. Math. Sci. Soc., **41**, 4 (2018), 1977–1994.
- [11] S. A. SEZER, R. SAVAŞ AND İ. ÇANAK, *Tauberian conditions with controlled oscillatory behavior for statistical convergence*, Filomat, **32**, 11 (2018), 3853–3865.

- [12] Ü. TOTUR AND İ. ÇANAK, *Some general Tauberian conditions for the weighted mean summability method*, *Comput. Math. Appl.*, **63**, 5 (2012), 999–1006.
- [13] Ü. TOTUR AND İ. ÇANAK, *A Tauberian theorem for the power-series summability method*, *Ukrainian Math. J.*, **69**, 12 (2018), 1981–1996.

(Received March 8, 2019)

*Sefa Anıl Sezer*  
*Department of Mathematics*  
*Istanbul Medeniyet University*  
*Istanbul, Turkey*  
*e-mail: sefaanil.sezer@medeniyet.edu.tr*

*İbrahim Çanak*  
*Department of Mathematics*  
*Ege University*  
*Izmir, Turkey*  
*e-mail: ibrahim.canak@ege.edu.tr*